Equal 9 step grey scaling betweeh* g3n=20.0 andL*y,,=103.0,Ypef=108.0, normalisation greyl|
L*0an=20.0,L*ga=61.5,L*9aw~103.0,Ypan=3.0, Yoa=29.8, Yoan~=108.0,Coay=Yoaw: Yoan=36.0
L*taN=56.1,L*tau=61.5, L*taw=74.0, Ytan=24.0, Ytay=29.8, Yian=46.8, Gray=Ytaw: Ytan=1.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLa = 116 [Y/Y,]1/3 - 16 with Y >= 0,882,Y,=100

g%= 100, g%5= 99 9%= 25, %= 19 9'%= 89, g'%g= 73
L*cieLaB  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1168 *a AlL*la
Og 103.0 1.0 1080 1.0 740 1.0 468 1.0 74.0
100+ : 3.7 2.3
8 926 0875 821 0754 70.3 0.791 41.2 0.87 71.7
1 3.3 2.3
7 823 075 608 0.55 66.9 0.603 365  0.741 69.4
: 2.9 2.3
ST @6 719 0625 435 0386 64.0 044 328  0.613 67.1
: 25 2.2
@5 615 05 298 0256 615 0.301 29.8  0.49 64.9
1 2.0 2.1
50+ @4 512 0375 194 0.15§ 59.515 0.189 27.6  0.371 62.8 -
@3 208 025 117 0.08858.0 0.103 259  0.258 60.8
: 1.1 2.0
@2 304 0125 64 0032569 0.041 24.8 0.149 58.8
25+ : 0.7 2.7
@: 200 00 30 00561 00 240 00 56.1

0autYoref

ol AL*g,=10.4  (=1,2,..,.8) | normalisation: Yiaiu=Yoau 02+ Yoret
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